4 popxy a712v» 139N

1 moNw

X+Y

:mxan mman nx f(x,y) = xye
A (xy) A frL(xy) T fr (xy) 2 f(xy) a2 fl(xy) X

+sin(Xy)+ X YPNOI MY K¥H

2 TR

:MIRAT NPEPNDT YW D WIPAN QNP1 QY0P DX RYN
Cfy)=Inx+y+ 23 -y? 2 (X y)=-3-3xy-y*+ &X- 2 X

3 moRw
.D mom owona onna £ (X, y) P00 2w D0 mn DI aNopn IR K¥n
A Y) =X —2xy+x°+y?+3x—2y; D : AABC; A(2,0)B € 2,6)C (4,C X

TV IR AN NI WA NR KD X=-2,X=0,y= 2,y= CMpa>"y M301 2107 07N2 .2
f (X, y)=6xy+ 3y*— 2+ 1C1xpno7 Hw 02 0P

4 aoRw

TODIRT DY N2 2N NP AT AP AR R 2 =10 + K + By Nwonn oy
2x7+3y* =1



